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logarithm. V , Vy-Daten
logV = (log
logV, =logV + 0,03
, Lol Adaptation: A, .=555 log [

log [Vo, V

V L (0]
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Uy = (A - 550) / 50
+ logL)/2log Vi, = —0,350p—U: ]|
logLo = —0,35\~Us7q

570

maximum
log(Vm)=-0,03
Vm=0,93
Schwelle
tz=0,00

3 Uy

logarithm. L , Lo-Daten
logL = (log
logL, =logL + 0,08

log [Lo, L,

600
BG750-1N
uy =@ —550) /50
+log )/2 logG,=-0,35L)\—u ]2
log =-0,35L)\-u ]

Adaptation: Ac =570 log[ /L,

maximum
log(L m)=-0,08
Lm=0,81
Schwelle
tg=0,00

BG750-3N
-Daten u, = (\ - 550) / 502
+logMg)/2log - =-0,35u)\-u ]
+0,35  logMo=-0,350,~Us/] |
,Mo] Adaptation: A y=520
570

maximum
< log( m)=—0,35
m=0,
Schwelle
tz=0,00

3 uy

= (log

= log

600
-Daten uy=(MA-550)/5
+log )2 log =-0,35u\-u ]
+0,08 log =-0,35u\-u ]
Adaptation: A =470

maximum
log(' m)=-0,08
m=0,81
Schwelle
tz=0,00

3 uy

445,470,495
BG750-7R, 1

700A/nm

BG750-7N

logarithm. V , Vy-Daten
logV = (log
logV, =logV + 0,03

u, = (\ — 550) / 50
+logLo)/2logVi, = —0,350)~u:.]]
logL o= —0,35)\~Us7q
Adaptation: A,,.=555

570

IV, Lol V., ]

logarithm. L , L,-Daten
logL = (log
logLo =logL + 0,08

maximum
log(Vm)=-0,03|

BG750-2N

U, = (A - 550) / 50

2

2|

540,555,570

+log )2log =-0,35u\-u ]
log =-0,35u)-u ]

/L., ] Adaptation: A =570

maximum
log(L m)=—0,08
Lm=0,81
Schwelle
tg=0,00

BG750-4N
-Daten uy = (A —550) / 502
= (log - +logMg)/2log - = -0,35\-u ]
=log +0,35 logMg = —0,35)—Us7q |
1G.\Mo/G;, ] Adaptation: A y=520

570 /

maximum

log( m)=—0,35
m=0,

Schwelle

tz=0,00

-Daten u) = (\ — 550) / 5i
+log )2 log =-0,35u)-u ]
+0,08 log =-0,35u,-u |
Bz | Adaptation: A =470

maximum

Schwelle
t:=0,00

3 Uy
700A/nm

BG750-8N

445,470,495

logarithm. V , Vo-Daten

logV = (logV+ logLo)/2logVi, = —0,35)-u

logV, =logV + 0,03 logLo = —0,35\~Us7q

log [Vo, V , Vi, Lo] Adaptation: A, .=555
570

maximum
log(Vm)=-0,02
Vm=0,94
Schwelle
tg=0,01

ux

600 700 A/nm

BG751-1N

U, = (A - 550) / 50

logarithm. L , L,-Daten
logL = (log
logLo =logL + 0,08
log [Lo, L, Go,

log =-0,35L)-u ]
Adaptation: Ac =570

maximum
log(L m)=-0,08
Lm=0,82
Schwelle
tg=0,01

BG751-3N

-Daten

= (log  +logMg)/2log - = —0,35u\-u ]
=log- +0,35

" abBo Adaptation: A y=520

maximum

log(' m)=-0,34
m=0,45
Schwelle
ta=0,01
-1

ol
570
Ve

1 3 uy

500 600 700 A/nm

-Daten u, = (\ — 550) / 5i
=(log +log )2log =-0,35u\-u ]
=log +0,08 log =-0,35u\-u ]

Adaptation: A =470

maximum

Schwelle
20,01

K] Uy
700A/nm

BG751-7N

445,470,495
BG751-7R, 1

Uy = ( - 550) / 50

+log )2 logG, = —0,35L~U:.] ]

Uy = (- 550) / 50

logMg = —0,35)—Us7q |

logarithm. V , Vy-Daten

logV =(log
logV,=logV + 0,03
log[ VoIV ,Lo/V, ]

+logL)/2logiVi, = —0,35u)—u
logL o= —0,35l)\~Us7q
Adaptation: Ay, =555
570

1

logarithm. L , L,-Daten
logL = (log
logLo =logL + 0,08
log[ < /L,

1

maximum
log(Vm)=-0,02]
Vm=0,94
Schwelle

600
BG751-2N
u, = (A — 550) / 50
+log )/2log = -0,35[,-Uu ]
log  =-0,35u)-u ]
Adaptation: A =570

540,555,570

/L, 1]

maximum
log(L m)=—0,08
| m=0,82
Sciwelle
t5=0,01

BG751-4N
Uy = (- 550) / 50
=-0,350)-u ]

-Daten
= (log -+ logMg)/2log
=log" +0,35
G Mo /G, ]

570

Adaptation: A y=520

maximum
/\‘:,45
01

-Daten uy, =( —550)/5
=(log +log )/21log =-0,35u\-u
+ 0,08 log  =-0,35u\—u

/Ba || Adaptation: A =470

maximum

Schwelle
ta=0,01

3 Uy
700A/nm

BG751-8N

445,470,495
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log[Empfindlic

keiten und ErregungebMS-R17_Mx (x=1,2,3,45chwelle £=0,00 und 0,01
Y

logMg = —0,35)—Us7q |
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